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)P Code : 12764

(2, Hours) Total Marks :
g.: () All questions are compulsory, hporal Marioy73 :
' ) Internal choices have been glven, ' &
3) Figures to the right indicate full marks, (<°30
- O
| (A) Fill in the blunk.«‘(any three):- 2 3 é‘/
. (i) Glycolysis in the anacrobic conditions leads to production \(f’
@ Pyrwvate  (b) Lactate () Malate oy
“(i) HMP shunt occurs in the C
- (a) Cytosol ' ‘(b) Mitochondria  (¢) Golgi complcx«l§-
(iii) — i3 f:onmdcrcd 1o play a catalytic role in citric acji@Eycle.
' ; (a) Succinic ac‘:ld (b) a-Ketoglutarate (c) Oxaloace@
(iv) ~Gluconcogencsis ie regulated by X

~ (a) Glucagon (b) Lactate (c) Bot &é‘gnd b’
(v) Glycogen phosphorylase is a key enzyme in \\R
(a) Gluconcogenesis(b) Glycogenesis . (c) ycogenolysis

(vi) Pyruvate is converted to acetyl CoA by o
(a) OXidatiVC (b) Reductive QXS Both 'a' and '’
: : decarboxylation  + decarboxylatign
(B) Define and explain(any one):- S’J\ 5
(i) Gluconeogenesis /%_
(i1) Glycogenesis \<§/
C) Write short notes on (any one):- 9
(© & ,
(i) Glyoxylate pathway =~ Q
. (i) Oxidation of pyruvate to\g?ﬂyl CoA
(D) Elaborate on (any one):- @) | 6
() TCA with reaction _
(i) HMP shunt with 19;§ions
0
3

2. (A) Fill in the blanks(any<hree):- : |
- (@i)- TheNAD huttle used by skeletal muscles and brain is

(a) Mgjgte-Aspartate shuttle
(b) @lycerol phosphate shuttle
(Qﬁsoth 'a' and b’
(ii) \\%c? explains the dependence of electron transfer on ATP
-\ Synthesis in mitochondria. ‘ ¢
CSZ% (a) Proton-motive force
(b) Rotational catalysis

| ’\/Y/}. ’ (c) Chemi_osfnbtiq theory 3
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2 QP Code : 12764
(ili)  Qecycleresults in the passage of electrons through —————In ETC.

(a) ComplexIV
(b) Complex III

' (c) Complex V ",
(iv)  Iron-sulphur proteins are characteristic of the——— cycle.
(a) ETC ' . ((r
(b) EMP &
(c) Both 'a'and'b' . N
v) inhibits cytochrome oxidase. (JO
(a) Cyanide §
(b) Rotenone . L
. (c) Amytal N\
(vi) Photosystem II contains a reaction centre c@&'ophy“
Called____.__—-—- X ' . @Y
(a) P700 D
(b) P680 RN \
() P600 ol oy
(B) Define and explain(any one):- | : f—‘;l*' 2
(i) Free energy o \Z\V 3
(i) Photophosphorylation /fo%
" (C) Discuss in detail(any one):- /8}\) S 4
(i) Malate-Aspartate shuttel \(5’
(ii)  Dark reaction and light react@of photosynthesis
(D) Elaborate on (any one):- QS\ ’ : 6

(i) Z scheme of photosynthsﬁé
(i) Structure of ATP sy&_tﬁdse .

S

3. (A) Fillin the blanks(an 1&;;):- . : 3
(i) The stati phase in reverse phase partition chromatography is
: B supported by a matrix.
(a) N}nz:polar compound
A (bXYolar compound :
- Q) Water
GV =y, +_ XV,
£ o
<</°> (b) Kd
: YS ‘ (c) aWr : : _
‘;.\\, . . ‘ | ' . [TURN OVER
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(ii.i) Ih_GLC, a stationary phase of silicon grease is supported

PR e &
(a) Celite i : i "DO
(b) Sephadex - . ' é<

(c) Resin

(v) In the detection of component,___ i useful if unsaturated ¢

compounds ate being 1nvest1gated | N
(a) lodine vapour Lo OO
(b) Ninhydrin ‘ .- QL
(¢). H,S0, in ethanol ‘ @
(v) In TLC, for charged hpxds solvents are used ,QZ\V
= 2 (a) Polar ' %
V D (b) - Non-polar _ ' \@
‘ (c) Both'a'and'd' = @
(vi) IfKdis » moderately moving zones Q-?g\obtamed
. (a) Greater than 1 e
() 1 : o3
(c) Less than 1 ~ \2\?
B) Define and explain (any one):- ‘ \c_;b ' 2
(i) Stationary phase S}
(ii) Ionexchangers ' o ' ,{2— ‘
- (C) Write short notes on (any one):- R \<§, . 4
(i) Principle of HPLC | Y‘,b
(i)  Application of gel ﬁltratlozz_ﬁnromatography .
(D) Elaborate on (any one):- 6
3 (i) Adsorption chromato (a\é\h :
4 ‘ (ii) Paper chromatogrgﬁg'
b A File in the blanks(any m%‘ee) 3

(i)° -The active o%n of vitamin D i in humans is
(a) Ergodtviferol | '
(b) Chg¥ecalciferol
" (c) Behydrocholesterol

(ii) oflavin consists of sugar alcohol attached to___
{@) Flavin -
b) Chromane .
q_

(¢) Pyridine
Q}cﬁ) - pl value of lysine is
\/Y* (a) 5.97
§\ (b) 2.34
\<§\/_ (c) 9.74

Q
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(i) 'The isvelectrio pH of glycine is calculated by arithmetic mean of pK1 ang

(n) pK,
(b) pK,
| (). pK, Lot o
(V) takes part as coenzyme in transamination.-
(8) Pyridoxine &
(b) Flavin : C\\y
(¢) Biotin C
(vi)  Intiteation curve, the relatively flatzone observed is caHEd-—ﬁ’\_
(a) Titration zone : ?"E\-
(b) Acceptor zone ’g\ )
| ~ (¢) Buffering zone ~
(B) Define and Explain the following(any one):- \}T z
(i) Vitamins X
B (i) FAD <
(C) Write short notes on (any one):- . yg- :
(i)  Role of vitamin A'in vision S
(if)  Coenzyme form of vitamin B1 Q‘T
(D) Discuss in detail(any one):- A >
(1) ~ Working of glass electrode and its apggoitmlls
(i) ~ Titration curve of asparate é’ ’
.. il
5. (A) lustify any one of the following:- \<§/ 4

(i)  Citric acid cycle is amphiboli
(i)  Glycolysis in humans is hi@y significant.
(B) Elaborate on (any one):- el
(i) Uncouplers of ETC O\z\
(ii)  Electron carriers in ghotosynthesis
(C) Explain any one of the follg¥ing:-
(i) Application of *?Xh exchange chromatography
. (i)  Principle of %h'nity chromatography
(D) Attempt any one of¢he following:-
(i) Physiolggtal role of vitamin E o M a
(if) Calcu&c pH of a mixture of 0.1M acetic acid and 02M sedimm
acet@e(pK, = 4.76). |
£y Write Trugor False(any three):- - -9
g (1) @ycera)de}fydi}phophate is formed at the gnd of phaseI of giycolysis.
(ii \.\\Transketolases forn;( part of glélcgr;%ogenesw.
H Ubiquinone is also known as CoQ10. : _
: ) Afﬁ(xllity chromatography relies on differences in the physical properizes
AY" " of the molecules to be separation of buffers. ) =
/\\’T (v) Henderson-Haselbalch equation i_s used fo_r preparation of bufiers.
q,v’ (vi) Riboflavin and Lactoflavin are different biomolecules.
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